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Time: 2% Hours Total Marks: 75

Note: 1) All questions carry equal marks and are compulsory.

2) Figures to the rightindicate maximum marks for a question.

QL (A) Attempt any two sub-questions from (a), (b),(c) in MS-EXCEL 2
(True/False) 5
— (a) Absolute cell referencing uses two § signs. G
LA (k) We can delete all the worksheets in a worlboolk. ‘}j‘*
(¢) Auto fill and AutoCorrect features are the same. e,
(B) Attempt any fwo  sub-questions from (d), (e),(f) in MySQL EZ) _

(Multiple Choice)
(d) Tomake changesin the data already entered in the tabla\ve use
1) Alter Tables 2) Update and Set.> e

3) Select 4) Create S,

\-*-v
(e)  Theclause used to arrange the rows in the table i§
1) Arrange by 2) Sort b;i‘
3) Order by 4) D1 riay by
()  The query SELECT * FROM DEPOSIT; wﬂl dlsplay the rows in the
‘table DEPOSIT. ¢
1) Firsttwo 2) Last two Lo 3) Middle two 4} All
© Attemptdny six sub- questmns from (g).(h),(®).(), ), 1),(m),(n).(0) (6)

in Data Communications, N e“huorlung and [nternet (True/False).
(g) The POP protocol is use.i;tu link various documents on the WWW.

(h) Protocol is not necessa xy for data communications.
(i) Routingis the ﬁi{i@lﬁbn performed by the network layer of OS] model.,
¥ (1) HTMLis used’fm‘_’%?.eate Web pages.

(k) Wireless nf;-lr::\'rérk has limited range.

()  AURL consists of ouly the document name.

(.m) Download means to copy a file from your computer to ancther.

(n) 'I‘hq»?épening page of a website is called its home page.

(o)  ,¥vrethan one file can be attached with an email.

Ly
(D) O Attemptany five sub-questions from (p).(Q), (£),(s),(8), (W), (v), (W) (5)
v in Data Communications, Networking and Internet. (Multiple Choice)
Q)\ (p) Thereis no electric signal in the cable.
o 1) Coaxial cable  2) UTP 3) Fiber optic ~ 4) STP

XN (q) Which of the following is not wire based media? _
1) Microwave  2) Fiber optic  3) Co-axial cable 4) Twisted pair

(r) InMAN computers are generally connected with cable.
~ ; 1) Fiber Optic 2) Co-axial 3) Twisted pair  4) UTP
i : [TURNOVER
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. (s) Thelarge vollection of websites available on the internet is
1) URL 2) Www 3) Biog 4) None of these
(t)  Internet Explorer, Google Chrome and Firefox are .
1) Hardware  2) Browsers 3) Utility software 4} Internet tools
layer in OS] model

(u) [Ifa packetis missing or arrives cut of order,
handles the situation.

1) Transport 2) Session 3) Netwark 4} Physical
(v) Tomatchall the words in your search, the Boolean OPErator .. |
should be used. A
1) CR 2) AND 3) NOT 4)BOTH % A
(w) The full form of ISDN is Service Digital Network ‘L \'
1) Indian 2} important 3) Integrated 4) Iniial
Q2. (A) Answer anyoae sub-question from (a), (b} in Data (30;rx"-.';{‘-.i.l'nicationsJ (8)

Networking and Internet. ¥
(2) Write short notes an (f) Bus Topology (ii) Star Topglegy.
(b) Explain Data Communication & its various comp goients.

=

(B) Answer anyone  sub-question {rom (¢), (¢} ia Data Communications,  (7)

Networking and Internet. .
(c)  Explain Domain Name Systen and IP Addresses.

(d) Write short notes on (i} Website (i1} Hacking.

3. (A) Answer any one sub-question from (@), (b} in MySQL (
(2) Write MySQL statement v ereate a table called HOSPITAL having the

following columns Patient Registration Number { PRN, integer, primary
key), Patient Name (PNAME, character with varizble widch 20
columns), Docter, Mame (DOCTOR, character with variable width 20
colummns, should a6t be empty) and Charges( CHARGES, 7 integers and

g 2 decimals, positive).

(b) Write MySQZL statement to create a table called ACCOUNT having the
columns Account Number {ANG, integet, srimary key), Account holder
Name (NAME, character with variable width 25 columns), Gender
(GEI; Boolean), Type of Account (TYPE, character with variable width
?xétcolumns, default value "SAVINGS™) and Balance (BALANCE, very

i -‘?érge integer).
=
A
®) i
&
\i\/ (¢) Explain the [ollowing built-in functions in MySQL.
A 1) MOD() 2)RTRIM( ) 3) LOWER() 4) NOW()

Answer anyone sub-question from (c), (<) in MySQL (7)

LI
W b
L]

5) RIGHT() 6) ROUND() 7) MONTH()

[TURN OVER
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, (d) There exists a table called ATTEND having the following columns

Student Name (SNAME, character variable width 25), Class (CLASS,
character width 15), Division (DIVISION, character width 1) and
Number of Lectures Attended (LTOTAL, integer).
Write MySQL statements for the following,

= i) Insert one row of data in the table having Student Name ‘RAMESH
SIPPY’, Class 'F.Y.B.Com.’, Division ‘A’ and Number of Lectures Attended
80.
i) Add a new column Roll Number (RNO, integer) as first column to this
tahla, 5
{if) Increase the Number of Lectures Attended by all the students by §:.”
iv) Delete all the rows from the table where Number of Lecpires

S Attended Is less than 75, P
" ) Change the Number of Lectures Attended of the student whiosé name
is ‘DIYA MIRZA' to 75,
vi) Rename column SNAME o NAME,
8) vil) Display the structure of the table ATTEND,

Q4. (A) Answer anyone sub-question from (a), (b) in MvS0L
(@) There exists a table TAX having the columns*Permanent Account
Number (PAN, integer), Name (NAME, character), City (CITY,
character), Taxable Income (INC, integer) and Income Tax (ITAX,
7 integer). "
Write MySQL queries for the following. 7 |
i) Display Permanent Account Number, City and Income Tax from this
“table.
ii} Display Permanent Account Nimber, Name and Taxable [ncome
p & . where Taxable Income is more than the average Taxable Income.
zF i LS iif) Display City, maximum ant minimum Taxable Income grouped by
City.
iv) Display Permanent fccount Number, Name and Taxable Income
where the Income Tax [s equal to the Highest Income Tax.
v) Display allthe rows lrom this table where name contains ‘B,

e (b) There exists a_rzble BOOKS containing columns Accession Number
R (ASNUM, integer, primary key), Book Name (NAME, character), Author
Name (AUTHOR, character) and Number of Pages (NUM, integer).
There exicts another table ISSUE containing the columns  Student
Number (SNUM, integer), Accession Number (ASNUM, integer, primary
key) and Date of lssue (DO, Date).
Wrﬁi}s MySQL queries for the following, j
i}-Display Book Name, Author Name and Date of lssue for books having
-more than 300 pages using both the tables.
_Q%ii) Display Bock Namie, Student Number, Accession Number and Date of
Issue for Books lssued before september 1, 2016 using both the tables.

o [lf) Display Bool Name, Author Name and Number of Pages form the
Q\ table BOOKS for those books where the Number of Pages is equal to the
) {L‘ average Number of Pages.
r \:\ iv) Display Boolt Name, Author Name and Accession Number in the
d alphabetical order of Book Name from the table BOOKS,
. v) Display Student Number, Accession Number and Date of Issue for all
the rows froni the table ISSUE where Student Number is between 21
and 30.
[TURNOVER
3
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Answer any oae  sub-guestion from (¢}, (d) in MySQL

There exists a table CUSTOMER containing columns Custorner Number
(CN, integer), Customer Name {CNAME, character), City (CITY,
Character), Bill Number (8NG, numeric) and Bil Amount (BAMT,

numeric). Write MySQL queries for the following.

i) Display the City, maximum and minimum Bill Amount grouped as per
City.

ii) Display the City, total number of bills and total of Bill Amajint
grouped as per city.

iii} Display all the rows where the Biit Ampunt is above the average Bill
Amount. i "

iv) Display all the rows from this table where the Customer Number is
divisible by 4.

There exists a tabie STUDENT containing columns Rall Number (RNG,
integer), Students Name {MAME, character), Class (CLASS, character)
Marks (MARKS, [nteger) and Date of Birth (DOB, date).

Write MySQL queries for the following. o~

{) Display all the rows from this table wtlere“ljﬁfﬁ‘rks are above 75.

i) Display all the rows from this table whera Tlass is “T.Y.B.Com.”.
fil) Display the Student Name labeled s 'Name of the Swmdent’ and

Marks labeled a3 "Marks of the Student’ from this table.
ent Name and Marks of students born

iv) Display the Roll Number, Stud
before March 10, 1998 from this tabie.

v} Display the Roll Number, Srudent Name and Marks of students where
Student Nume is ‘ADITYA CHO PRA from this table.

vi) Display ali the rows from this table in the descending order of
Marlks. -

vii) Display all the ruws from this tabl
Student Name is ‘I

¢ where the first letter in the

Answer azyione sub-guestion from {a), (b) in MS-EXCEL

For the following spreadsheet obtain the Subtotals of the Sales year

L wises i

A B C D E
NAME YEAR AGE MOBILE NO. SALES
SALIM 12010 30 9821023012 45000
ANANT | 2011 29 3456789215 20000
I RAHUL 2011 26 9845673212 55000
AANA 2010 79 | 8876543939 40000
RA[NI 2010 37 L 8976765645 20000 |
ASHA 2011 92 15456677678 125000

Y S S P Y MR N 24

(7

)
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(b) Forthe [ollowing spreadsheet obtain the Pivot rable showing total
profitand average profic city wise in columa FL.
A 1 B C D
1 | NAME Iy GENDER PROFIT
2_| SHAAN NASIK MALD 45000 |
3 | ADITYA MUMBAI | MALE 75000 |
4 | SARITA PUNE FEMALE 50000 N
5 | NIKKI | NASIK FEMALE 40000 7
6 _| RIDH] | PUNE FEMALR | 55000 '{
7 | sumiT | MUMBAI | MALE [ 70000.. |
Q5. (B) Answer anyone  sub-question from (z), (d) in MS-EXCEL
(€)  The following data has been entered in a warksheet.
A B c D E F
& NAME BASIC HRA DA P NET PAY
2 | ADIL 40000 ‘
3 DARSHA 25000
4 HAFIZA 56000
5 KAJOL 75000
[ 6 SACHIN | 34000
Write the steps to ebtain
1) HRA as 45% of ihe Basic or 18,000 whichever is less in column C
i) DA as 130% of the Basic 5r 20,000 whichever is more in column D.
1if) PF as 12% of BASIC [ column E.
iv) NET PAY as BASIC + DA + HRA - PF in column F.
Sz (@) Explain the foliowing built in functions in MS-EXCEL
1 IPMT() 2. ABS() 3. PV() 4. MIN{)
2. FLOQR{) 6. NPER() 7. ROUNDDOWN( )
<3
by ) LR R i e PR R e
S
§
N
Jo
&
AN
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( 2% Hours ) [ Total Marks : 75 | %
N.B.: (1) All questions are compulsory. @f}:‘
Figures to the right indicate full marks. G"‘v
Answer any two of the following : 15
(a) How is Export Marketing different from Domestic Marketmg\%
(b) Explain the factors influencing Export Marketing. "
(c) Explain the direction of India's Exports since 2010. o0 ’
8
Answer any two of the following : wfi} 15
(a) "Trade barriers have positive as well as negative u\ﬁiuence on Foreign
Trade of a nation." Discuss. X
(b) Explain the negative implications of WTOQ? ﬁgreements on Export
Marketing, Q
(¢) Discuss briefly the process of Globalé&a:ketmg Research.
”\:&
Answer any two of the following : oy 15

(a) Write a note on Foreign Trade f%licy 2015-20.
(b) Describe the role of DGFT N
(¢) Discuss the privileges en\;«:%fed by Export and Trading House Status

Holders. s
ig{‘
Answer any two of the fgﬁfﬁwmg 15

(a) Write a note or@ackagmg of export goods.
(b) Explain the i@mous methods of export pricing.
(c) Calculate Iﬂ;l]JIIluIIl FOB price from the following details. Also calculate

Forelg%f?xchange that can be earned if exchange rate 1 US § = £65.

-@;g;} Particulars Amount (%)
~S3 Ex Factory Cost 1,00,000
7 Labour Cost 10,000
& Packing Cost 12,000
Transportation Cost 8,000
Profit Contribution 10% of FOB Cost
Duty Drawback 10% on FOB Price

" OF-Con. 2010-16. [TURN OVER




5. Answer the following :
(a) State whether the following statements are True ot False : o
(@) India's services exports is dominated by financial services. .o
B

| Gi) Indirect exporting involves the services of middlemen. in‘:}
o

|
‘ (iffy Export Houses issu e

o TEC number to eXporters. 7
(iv) Product |abelling helps the customers 0 identify ﬁx@?oduot.

(v) C&F Quotation includes international insurancs,\sffarges.
&n.(‘-v-é

S8
o
S
o,

Ty

' (b) Give Full form of the following :

| @ BU :

(i) TRIMs Q@‘é"“
" (i) MEIS 7

(iv) OPEC >

(v) VKGUY T Al

(c) Match the following : o~
Group A Q:j%‘:"‘ Group B
@) NAFTA % 5 @ Low Price
(i) Skimming strategé{f;a? (b) Forglass items "Fragile"
(i) Information pég?é}ssing and (c) TradingBloc
Customer s%z%?\ice standards

@iv) Prohibi‘gg@items (d) Petroleum Products 1
) Mm§@§ () HighPrice .

&9 (f) Wild Animals 9
4 (g) Components of Logistics

“

-.'

f%)
\\ /

4y
&V
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- %
& : 3 A
- _ 5
o (Revised Course- CBSGS-75/25 Pattern) oA
FEaY 5 % A
e Nt
s o (2 ¥ Hours) { Total Marks :Z\S\{\ _
: | D
: . 94
B N.B. : (I) All questions are compulsory »?.Q
Shlel (2) Figures to the right indicate maximum marks , ‘ ¥
3 (3) Workings should form part of the main answer. ; ;:5‘5}9
) Y
- . % = ﬁ’\
1 (a) Fll-l In the blanks with appropriate words (any 8) QQ 3
5 (1) ° Remuneration received by a Member of Parlia;neyt (1\@‘1'\”"‘) 'i_s taxable

under the head Income from :
()  An Asset has to be put to use for atleast _d&¥s in order to
eligible to claim depreciation at full rate, as ap T'd@gab le e
(i} Medical Insurance Premium js eligible for ction under section
80D upto a maximum of Rs . in casagienjor citizen.
(iv) Bonds of Mahindra Ltd., held for 24 months are Capital Assets.
5 _ (v)  Gratuity received by non-governme ‘:%nployces, who are not
_ covered under the Payment of Gratuity Act, is exempt upto a
- maximum of Rs " \::“ -
(vi) Dividend received on shares of Go-operative Society is
(vil) Re-imbursement of medical e enses to an employee is exempt upto
~ amaximum of Rs < -
(viii) Interest on borrowings fﬁ; 500,000/~ for a Deemed to be Let-Out
e Troperty is eligible f fgpdeduction upto Rs :
(ﬁf Jewellery to be r'ega;f ed as a Long-Term Capital Asset, should be
held for period m#ére than — __ months.
(x) Residential Stz@f% of a0 Indian Company is. ___ in India,

1. (b) State whether thedbllowing statements are TRUE or FALSE, a5 per the E
provisions of I%gﬁme Tax Act, 1961 for Assessment Year: 2016-17 (any 7)
)] Rentq%iﬁcome from an open plot of land is taxable under the head

'Inc&(ﬁue from Other Sources!
() Cemmuted Pension received by a Government Employee is fully

"'a"}empt
(iiij\f%uty Drawback received by an exporter is taxable under the head
\" ‘Income from Other Sources' : S

Uiv) Stock of finished goods of a business, is not a capital asset

Qgi/ (v) Deduction under section 80U, available to a physically handicapped

S individual, is allowed to a non-resident

5%
. [TURN OVER]
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(vi) Deduction under section 80 CCC, together with Section 80C, is @;-

allowed upto a maximum of Rs 300,000/-
(vii) Asset purchased and put to use on 1st January, 201
for depreciation claim, as applicable, at normel rate S
(viii) Gifts received exceeding Rs 50,000 from anon-relative is not taxabl <
(ix) Residential Status of an Individual is determined based on physic
presence in India of such Individual g\’“
(x) Income earned in India by 2 Non-Resident Individual is not @é‘ole
o

wz
_ omamtl
“ ny
" ; o .
6 will be eligible Q“‘\
«qf’
Y,
i'
inIndia n —;——1
| @ |
5. Mr Rahul, who is physically disabled to the extent of 65%, wWo '\\3111 X Ltd,a 15 - ¥
' private company. From the foilowing particulars of Income provided for the
previous year ended 31st March, 2016, you are required tq‘ﬁmpute the net
S il
1
L
N
Ra—— |
-
.—-—Ml
otk

+axable Income for Assessment Year: 2016-17 {IS’*
i o
SrNo | Particulars a‘:{”—:’ Amount (Rs)
1" | Basic Salary S 7,00,000
2 Dearness Allowance ,\‘3}7 | 3,00,000
3 House Rent Allowance [Emmpﬁiipto Rs 29,000] 90,000
7 | Re-imbursement of Medical Expenses 22,000
5 | Perquisite Value of Motogf@%r, provided by the
Employer for official az?gvmell as personal use 40,000 :
6 " ‘Enj:ertajmncntAHo;%‘%fce Received 60,000 | | b ]
=* | Profession Tax Paid 2,500 !
: Other Inforqi‘%t\i}on— ’ : K
g Director's Si”s?;ﬁ\.ng Fees received 100,000
o | Dividend¥rom Foreign Company 30,000 |
10 | Dividend from Mutual Fund 25,000
11 BegtCitizen Award received from Government 10,000
12 ‘Efb*paid Medical Insurance Premium for Self 22,500
5 |
{‘/ OR
e
~
5
e 4
Gl o=
g
‘i;ji'M
o ‘ [TURN OVER]
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: 3
O
¢y = MrPrem provides following particulars of his Income for the previous year 15 r*g}‘
R ended 31* March, 2016. You are required to compnte the net taxable Income P \
oo for Assessment Year: 2016-17 a Y
NN s
, Sr Particulars of owned house House A (Selt- House B{zﬁl}; »
_H No _Occupied) Rs {Let-Out) @g"“
{_1 Municipal Valuation (per month) - 30,000 405500
2| Rent Received (per month) 0 ,@gr; 000
3| House B was vacant for 2 months _ g{;
15 . 4| Municipal Tax: QY
- Paid by tenant 0 & 15,000
- Paid by owner 10,000, 1 30,000
5| Interest on Borrowed Capital : &
- Paid dt_lring' the year 26:000 60,000
- Outstariding on 31/3/16 f;Q‘gj‘?s_,c}f;(l 60,000
6| Maintenance Charges -\ 12,000 18,000
: Other Information- n\\}\\ Amount (Rs)
1 7| Interest on Deposits with Bank Ao 75,000
4. 8| Intereston savings account with baglke” 12,500
_ 9| Interest on Government Securitich 14,000
i 10j Interest on Debentures {“‘;’Vv 45,000
11 Inf’g?é'st from Public Prox@ﬁént Fund 1,50,000
LIZ ' He mvested Rs 100 OQ*\},Kmto Public Provident Fund Account
o
i
&
S
\0‘:}2 )
3,
&
w0y
3
5
o
&
.
Gy
N [TURN OVER]
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4

{3) 40%of Rentp
(4) He paid Medical
8,000 ¢

C}%.\

{Q :
(5) He rcce@;ed Maturity

Insurance

Proceed
OR

id is attributable towards his residence
Premium for Self Rs 10,000 & Spouse Rs

s of Life Insurance Policy Rs 20,000

. 3. Mr Moghé provides the following information for the previous year ended 15 ﬁ_‘;:"' " .‘
31stMarch, 2016. You are required to compute his net taxable income for the ) a\"‘:“ -
Assessment Year: 2016-17 \;\'\ b

1
; ’ - \5’3
Profit and loss Account for the year ended 31st March, 2016 {g‘f’ S
’ e R
[ Particulars - Rs. Particulars J&s‘. - u
To Rent 30,000 | By Gross Profit 775000 .
To Salaries 1,60,000 | By Interest on Bonds Q’Qﬁ 0,000 - 4
o Motor Car Expenses | 25,000 | By Dividend from Indian 3" . 8
N Companies ' 15,000 " l
To Life Insurance Premium 60,000 T g P xel
To Income Tax 1 26,000 Q«S}‘ “
To Printing & Stationety 10,000 {f’? " e
To Conveyance 36,000 N "
— : S et
To Depreciation 35,000 R "
To Donafions _ 25,000 N "
To Net Profit 433,000 | > e
TOTAL 8,40,000 | TOTAL | 8,40,000 -
: : ?\3\ : ot |
_, . N
Additiong! Information - L8
(1) Salaries include Rs'49§§%0 paid to Mr Moghe's son. The amount is
considered reas ona%b ased on his qualification and experience
(2) Depreciation a5 pe¥Income Tax Rules is Rs 38,000




3. Mr Datey provides the following information for the previous year ended
31% March, 2016. You are required to cam

© ' QP Code i 73939

5

pute his net taxable income for the

Assessment Year: 2016-17 Ak
Profit and Loss Account for the year ended 31st March, 2016 %i;«,\
Particulars Rs Particulars " M?ﬁs.

To Rent 90,000 |By Gross Profit 19520,000
To Salaries 3,60,000 |By Income Tax Refund 18 95,000
To Motd_r Car Expenses 70,000 |By Rent from House Prop;qg%’ i 2,00,000
To Life Insurance Premium | 1,00,000 [By Duty Drawback -~ 65,000
To Municipal Tax paid for ' ' & A
house property 20,000 'S

To Interest on loan 50,000 (%*:y

To Repair Expenses 32,000 o

To Depreciation . 20,000 | B k
To Net Profit 8,38,000 A\"\V

Total 15,830,000 Tota}\l\\}g“ 15,80,000
Additional Information- Q:’f?

(1) Repair Expenses include Rs 1%%00 paid for rented house property
(2) Depreciation as per Income Tax Rules is Rs 25,000

(3) Life Insurance Premium ig{p
(4) “Tierest on Loan is to al
balance RS. 20,000 fved

aid for his spouse

Fashion Des ignjng@‘@fsurse from a recognized institution.

s Rs. 30,000 for Rented House property and
ucation Loan of his daughter, who is pursuing

4. (a) Mr Ranade prc%i%es the following particulars of assets transferred by 7

him during
to compute
Year: 201§+17
- 0

; brevious year ended 31st March, 2016. You are required
“Income from Capital Gains chargeable to tax for Assessment

s
A regigential house in Delhi, which was purchased on 11* November,
2000 at a cost of Rs 14,54,000 and was sold en 16™ January 2016 for Rs

\&XG,SO,GOO. He incurred transfer expenses of Rs 50,000

o
v
-y

i
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6 2
@.
Mr. Rapade made the following investments out of the capital gains arising x“:x
on sale of his residential house - ' A0
(i) Purchased a residential flat in Bangalore on 26th March, 2016 for f‘;:?
Rs 75,00,000 -
(i) Purchased 3 year bonds issued by Rural Electrification Corporati r;gu
(REC) for Rs. 10,00,000 on 16® February, 2016 o
:_ Cost Inflation Index for FY 2000-01 = 406; FY 2015-16=1081. &
i .
! 4. (b) MrBecker, a German citizen, came to India for the first time\ﬁi 1 April, 8
| 2011 and started a business in Kerala. He went out of Indiawn 1st April,
3 2015 and came back to India on 1st January, 2016.
Determine his Residential Status for Assessment Year _’25;5’§6-17
| “OR &
&
4. Mr Harsolear has carned the following incomes duq'gi?g’the previous 15
year ended on 31st Mareh, 2016. Compute his Grés Total Income for
‘Assessment Year 2016-17 assuming that he is- '\5}

(a) Resident and Ordinarily Resident >
(b) Resident butnot Ordinarily Residest

R
{Q’%ﬁF-Con. 5649-16.
1‘:.}

35 -
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il bt AR R T R

(c) Won-Resident . {:{;?}
SrNo| Particulars v TAmount Rs.
1 |Payments received in Duhg@;?fdr services rendered in Japan 1,20,000
7 |Afount prouglht to Indi Jout of past untaxed profits _ _
earned in England K 5,40,000
3 Iﬁconie from busin%win Germany, controlied from India 2,30,000
= .4 [terest Income-garned and received in India _ 1,90,000 |
: 5 {Royalty Incggzsggreceived frorn Indian Companies 3,50,000
——{Tncome frgin Agriculture in Sri Lanka 1,45,000
c Dividen&‘;f}om Japanese Company, recg@_y_fid in India 1,50,000
-—_8 Rsn}@gm house in Pune, received in Singapore 1,80,000
| \::i i
"N
&
<
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A\‘{ 7 ’ {;j:p
{‘5} 5. (2)State and Explain, in brief, the ded Qg\‘ﬁ
. \:\N from Salary' ¢ deductions available under the head 'Tncome g \{L
a 5. (b) Discus : = gy f ey y : L
N s the provisions .of Incom TN
2 Residential Status of an Individuzfl ??lax - L) e determination of - “0\&;
; 5. Writ ; OB S
- Write Short Notes (any 3) éi
(}) Net Annual Valye R 15
()  Perquisities . !éﬁ‘}
| (iif) Long-Term Capital Asset _ 5
8 (iv) Agricultural Income : QQ
(v) Person @g
_ ?*33‘
] &
15 3
-
A
D
¥
“~
N
ol
Qigt?
. .
- b"%’
_ e &V
Y~ " 2 .\~
\@‘(}
— "y
b
= ?‘5”‘ .
_ {f}\
— Q o
5
£
: ¥
e
i A\:\
o
& ‘ “
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5. (a)State arid Explain, in brief, the deductions available under the heéd Tncome

from Salary' 7 _ =~ = =
5. (b) Discuss the provxslons of Tricome Tax Act, 1961 for determination of

Residential Status of an Individual ? 4

5. Write Short Notes (any 3)

(i)

(i)
(i)
()

QP Code: 73939

7

OR

Net Annual Value
Perquisities

Long-Term Capital Asset
Agricultural Income

Person

[—————————— ]
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QP Code : 73941 . "

. (2¥2 Hours) + [ Total Marks : 75 ,\1\
_ i

- ‘N.B.: (1) All questions are compulsory. q‘{;\

RS (2) Figures, to the right indicate full marks : gfy

iy
o)
2

Answer any two of the following — %‘015
(a) Define Marketing. Explain the functions of marketing. &
(b) What is Digital Marketing? Explain its various forms briefly. {3
(c) What are the emerging ethical issues in marketing? Explain 5@§ﬂy

ju—
Lh
e

Answer any two of the following — ay 15
(a) Explain the term Marketing Information System. /&\\ffﬁat are its |
components? ,\f":\
(b) Define Market Segmentation. What are the fact@% on the basis of
which markets can be segmented? = g
(c) Explain the factors affecting consumer bcql{g;gﬁomﬁ
. o 1
3. Answer any two of the following :— x\:‘w 15
: {a) Explain the importance of Packaging:
(b) What is Branding? Explain the f%?;ors influencing branding.
(e) Explain the objectives of Prici%%. )
: Lal
4. Answer any two of the foﬂowiug@b 15
(a) - What is Physical Dis&;\i%ution? Explain the various types of
“Distribution Channels: -
(b) What is Publicity2 Explain its features.
(c¢) Explain the te;%x Public Relations. Decribe the parties in Public
Relation. . :

b

A& B
5. (a) Fill in the b@i;\s by choosing appropriate options given below:— 5
(D 7:%——— concept of marketing focuses on maximising

\profits. '
cf? (a) Societal (b) Traditional .
. > (c) Relationship {d) Modern

~\f*\\xfii) ~———— helps in protecting the goods from damage during
ol transportation.
Qﬁ")"’ (a) Packaging (b) Insurance

?3” (c) Branding (d) None of the above
3 ‘ [ TURN OVER

OF-Con.4228-16.




2 QP Code : 73941 )
g
(iii} is a psychographic factor of market segmentation. 20
(a) Age (b) Attitude Qf‘
(¢) Occupation (d) User Status : o0
@Gv) - marketing involves marketing the product to 2 small Q{}’y
selected segment. -EE"
(a) Global (b) Image aP
(¢) Niche (&) None of the above o
v) isa co_rnponent of logistics. {;';Q
.(a) Inventory management  (b) Transportation D 3
(c) Materials handling (d) All of the above b
(b) State whether the following statements are True or False '~ .3 & o
(i) Marketing Research is future oriented. ¥
(ify Customer Relationship Marketing Jeads to bxg:ﬁ‘d loyaity.
(iii) Third Party Delivery Channel involves Q}%\-&Qouxcing of the - " 3
distribution function. & | | -
(iv) Brand extension reduces marketing cost.
(v) Packaging is a part of Integrated Mﬁéﬁng Communications.
: Q _ ;
(¢) Match the following — . S | 5 §
: Group ‘A’ {f\}? Group ‘B’
(1) Brand Equity & (a) Survey method
(2) Green Marketing {{-Q? (b) Low entry price
_{3) Product Positioning\igﬁ"’ (c) Niche Marketing )
(4) Penetration Pric‘i&@’ (d) Environment safe products
(5) Primary data . é‘" (e) Viral Marketing
™ 43] Incremental value of a brand
o (2) Product features
e,
~
= N
&
N ‘
1 \:“1{
bl
FN:\
.'@\
0
;’?Qf -
X [ TURN OVER




s QP Code : 73945 O
; | S
(‘S\ : "\e{‘y
Ky (2% Hours) [ Total Marks : 75 Mo
% > ¥ %‘O
-g’_’&? N.B.: (1) All questions are Compulsory. QQ’.
- (2) Figures to the right indicate full marks g
(3) Draw neat diagrams wherever necessary. - 0;0 '
: : O
Ls)
1. Attempt any two of the following : O\ 15
(a) Define Public and private finance and explain dﬁ@t ilarities
between them. N

(b) "When marginal social benefit is equal to marginalSocial sacrifice,
Maximum Social Advantage isachigved”. Exp{gE ‘
(¢) Explain meaning and characteristics of sou_ugf‘fmance. :

y 2 _ Aftempt any two of the follqw;’;;g - ~N

(a) Explain how govemméhTaénTerE?éi}ér{%eb&om various sources.

(b)  State merits and demerits of direct taxss.

(c) Write anote on impact and incids\p;be of taxation.

% _

3. © Attempt any two of the following : f'g? &

(a) Discuss the classification éfcﬁublic expenditure,

(b) Define public debt and digCuss the burden of external debt.

(c¢) Describe the import.%r%%?eamrcs of FRBM Act, 2003,

i ~O '

4. Attempt any two of the foligwing : : : 15

(a) Explainthe ct\ggﬁerstics of Indian Money Market.

{(b) Describe the Honey market reforms in India since 1991.

(c)  Whatis cahital market ? Outline the role of capital market in economic

develqgf%l%nt . ) - .
)

5. (a) Biate véf*i% reasons whether the following statements are true or false (Any
fo qr’}@
U~ Public finance always follows " the principle of scanomic rationality”.
{#) Say's law forms the base of sound finance. -
«::\ ili) Special assgssment or betterment levy are tax impossd on all people.
\"\\- (iv) Ataxissaidtoberegressive when the burden falls heavily on high

e . income earners.
<;Q3 - (v) Public expenditure refers to the expenses incurred only by the central
_3” government. ' ' [TURNOVER
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' QP Code : 73945

2
&

(Vi) Fiscal deficit is 2 more- comprehensive measure of budgetary S
25

_ imbalance. _ ;

(vii) Money marketis 2 market for lending and b orrowing of long term fund. Q‘;"?

(viii) In India SEBI is resp onsible for regulating capital market. \;’?\
B

E}

(b) Choose the correct answel and rewrite the statement (Any seven) @b "
1

(1) Public finance includes NG
(a) Publicrevenus and public expenditure QQ
(b} Publicdebtand public administration W
(c) Bothaandb >
(d) None of T i Ny
(2) Maximum Jocial Adavantage is achievedivhcn\’?'
(a) Marginal gocial Sacrifice = Marginal Spoial Benefit
(b) Total Social Sacrifice = Total SociglBenefit
(c) Average Social Sacrifice = Average:Social Benefit
(d) édbiﬁﬁéi&fﬁﬁ%i‘a?ﬁé“
(3) The concept of fiscal measures ¢ 52 used to offset undesirable
chciical fluctuations was termeda
(2) Sound finance {b\_‘) Functional finance -
(c) Business finance o @ Public finance
(4) Fringe Benefit Taxisa t&g@evied onthe
(2) Employess ot (0 Employets -
* (¢) Producer s (d) Consumer
(5) Which is not a me‘%% of direct tax
(a) Direct ta.vés“ are equitable
(b) Direct {@xes are elastic
(c) Direcktaxes are economical
(d) Dizect taxes are-difficult to evade .
(4) The %&ess of transferring {he money burden of the taxi
() Impact (b) Shifting
€8) Incidence ' (d) Ymposition
(?%i@ovemment gxpenditure on interest payments are 2 part of -
A:’CF (a) Dev elopment €Xp enditure 2
3 {b) Non-development expenditure
{f\ 3 (e) Capital exp enditure
(d) None of the above
; (8) The budget where existing pro
}:{;" automaticaily funded is
Q_‘g‘* (a) Traditional budget (b) Zero based budget
o | {c) Performarce budget (€ Functional budget

&..'-

scalled

E
o e
ol grammes and activities may not be

(TURN OVER
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| QP Code : 73945 &
Cﬁ. * - 1
{"9:} : 3 ) Q\@
) \;53‘ - ,\{‘/
1 g .7 (9) Redemptiont of public debt means \\;\
-3 _j;,? (a) Refusalto pay debt (b) Reduce cost ™
5 (c) Reviewing structire of debt (d) Repayment of loan ,«%}:0
Z ; (10) Which ofthe following is the latest measure introduced by RBI r’@“
” , _influence liquidity in the financial system ? i
(2) LAF (Liquidity Adjustment Facility) Qq,b
(b) Repo ' A0
(c) ReverseRepo . ; : QQ
() “MSF (Marginal Standing Facility) »
(11) Which of the following do not constitute the structure of capital .
" market in India ? o
(a)- Merchant Banks (b) RBI oo
(¢c) Giltedged market (d) Industriadjg‘ecuriﬁes market
(12) NSE (National Stock Exchange) was set H%ln the year
2y 1882 . .o mme{B)-1994N T
(c) 1991 @ 1%95’
\:‘v
#o Rk ok 4{1{“-
&
" s QQ ! § o
?gﬁ
‘0?
w o)
i &
A
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¥ e _ QP Code : 73946 G
2 ‘ N
REVISED COURSE (NEW PATTERN) (75:25) o’
_ (22 Hours) . [ Total Marks : 75 {:E\
$£3.: (1) All questions are compulsory and carry 15 marks each. \\%
(2) Question Nos. 2 to 5 have internal option. \\"
(3) Working notes.should form part of your answer, _z‘;?
(4) Proper presentation and neatness js essential : QQ
(5) Use of simple calculator is allowed. g
(6) Figure to the right indicate fall marks, : Q%b

‘A)  Rewrite the following statements sertally and state whether ﬂl\@‘}‘%‘e true §-
or false: (Any Eight) \§ _
(  Long term loans given by a Bank is financing activity in cash flow
statement of Bank.
() Unclaimed dividend is contingent liability, &
(i)  Advance paid is an item of non-quick asse;
(iv)  Ifsales are against advance cash receiptgiomly, then the working
capital requirement will be high. o
(v)  Acid test ratio depicts liquidity positifn of the company.
(vi)  Fictitious assets are shown under farigible fixed assets.
(Vi) Machinery scrap is an example $PWwasting asset.
(vii) - Accounting standards are required to be followed while preparing
‘ Management Accounting Reéports. :
- (&)  Amortization of share isgue expenses is considered under non-
operating expenses. %~
x)  Common-size statement'is a short cut for quick comparison of iters
. Infinancial statements shown in odd amounts.
S O ‘
(B) Match the itern in colurﬁ’g}’A' with most appropriate item in column
‘B'and rewrite. (Any %@eﬂ) :

~1

. _Column 'A’ | ' Column 'B’
() Discount @?Egigsue of shares * Balance Sheet Ratio
(i) Staff advances * Financing outflow
(i) Goody * Tangible Fixed Asset -
@iv) Temﬁo‘}ary working capital * Revenue statement Ratio
(v)  Praference Dividend paid * Combined Ratio
(v))  Glls received in advance * Current Liability
(vil) ~*Operating ratio * Financing inflow
{Cviik~* Issue of rights shares * Current Asset
(s}  Debt-Equity Ratio * Fictitious Asset '
qu) Debt Service Ratio * Financed through Bank Overdraft
L ' * Intarigible Fixed Asset
| * Wasting Asset
' | * Operational Outflow
[ TURN OVER
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w7 g : ) QP Code: 73946
2. Following areé the balances in the books of Arnav 1td., for the year ended

reference Share Capital

31stMarch, 2016.
' ’ Particulars ' = 3
10,00,000 Ls}
| v

| 10%P
“Administrative Expenses 6,00,000 &
% i
Yy

Cash and Bank
Marketable [nve

Direct Labour ‘

Eguity Share Capital

Fixed Assets o g¢

Income Tax 8,85,000
Inventories . ,00,000
Long Term Investments & 200 000
Other Current 1 iabilities -

Other Direct EXpenses _ /40,000 ]
Provision for Expenses T 325,000
Rav Materials Consumed 39,00,000

[Reserves and Surplus o 3,50,000
Sales s T 80,00,000
Geoured Term Loans N " 60,00,000

Trade Payables

Trade Receivables ¥
Unsecured Termé%-}iﬁns- '
You are requ] &4 to prepare vertical Income Statement for the year ended

31* March% 116 and yertical Balance Sheet as on that daté for analysis-
"\Q "

\\
~ .

k]
:{ﬁ'/,

e zSQ- - H . N
maT o
v
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QP Code : 73946

Complete the following comparat.we Income Statement of Supnya Lid. by \5“
ascertaining the missing Figures.

Particulars 2015 2016 Increase/ % e@{\
(Decrease) Ingbn@?se/
N T in = (}@:rease)
Sales --- - - - 2,00,000 JO° 100
Cost of goods sold - - - ]1,80,000 1,20,00@"{%& 200
Gross profit SE- — Y pa ——
Operating Expenses 40,000 b ‘;ﬁ‘ - 120
Operating Profit - L é‘f{)b-_.. = Ee
Non operating Income - moms g 3,000 30
Non operating Expenses |~ 5,000 | - - -4 Nl Nl
¢ A ,
et Profit Before Tax -- “& boike S
_ T 'Q{\
@g::
K

Particulars S
Fixed Assets “:\’“} ‘ 1,50,000
Net Worth . - 1,50,000
Loan Fund: "%’* 2
Working Qéfﬁml 1,00,000 .
Total CE@% Employed 2,50,000
Cm@:“habﬂms 1,00,000
fz:}«’
"x\
\‘2&3
[ TURN OVER
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: | QP Code: 73946

3. At the begining of current year, the board of directors of Karishma Litd. wishes 15 2
to know the amount of working capital that will be required to meet the programme Q}?f
of activity which they have planned for {he year 201 6-17. ' ﬁ\i{:\

Following information is available:- \0'\
(1)  Production during the previous year Was 1,20,000 units. Itis plagééd
that this level of activity should be maintained during the E?“irgsent

year. ; ey
(2)  The expected ratios of cost to selling price are:- ;@%
Raw materials 40% , | )
Direct wages 30% g§ :
Overheads 20% w ‘
(3) Raw materials are expected to remain in storesiﬁfv‘i an average period

of one month before issuing for productig.

(4) Finished goods are to stay in warehousp on an average for two
months before being sold to..custom%%’. :
(5) Each umit of production will be i\{;i%:ﬁrocess for an average period

of one month. e _
6 Credit allowed by suppliers f{g‘ﬁl the date of delivery of materials

is one month o _
(7)  Debtors are allowed tweonths credit from the date of sale.

(®  Selling price is v15 pegunit. : .
(@  The company wang:fq aintain 1,253,500 cash balance.
Ql(ﬁar Calculate debtorson cost basis. ' :
(11)  There is regule roduction and sales cycle.
(12) 20% of the ﬁ‘:‘ixrch'asas will be on cash basis.
(13) During &@WWSMg period, Jabour and overheads accruc evenly.
(14) Time 12@""111 payment of wages and overheads is o€ month.
(15) The s"?z%upany wants to adopt 15% safety margin on net working

c%p(i al, before comp ng safety margin.
.\‘O % W OR )
o) .
3}}
R [ TURN OVER
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946 5 LB 4 5 .~ QP Code: 73946 &
Compute the missing amounts and percentages to complete the following Trend 15 h@:

w

ishes 15 & Analysis Statement of Anand Ltd. o
me _;‘53;9‘ . Summarised Profit and Loss Accounts for the years ended 31% March,.... \%{E'
i*\hf“}\ Particulars - Amount (= '000) Trend Percentages (%) ::\;‘
£§ ‘ __ ' | 2013 | 2014 | 2015| 2016 2013 2014] 2015 zg@@
en Net Sales 20?0 2lu200 7] 120 | 140|150
Jperating Cost 7| 26,000 6,500 2| 110 | 129 ¢
Jperating Net Profit ? 9 ? ? ? ? | %] 2
Non-Operating Income ? 20 150 ? 2 [1020,4>™150 |280
Non-Operating Expenses 200 71 150 230 AR
Profit before Interest & Tax ? ? 2] 9 2l 2 2] o
ziod Tnterest 2| 110 | 200 160 T 2 ?
R ] 00 2
rofit Before Tax ( PBT) ° 9 9 ? | >0 9 2| ¢
- “zx @ 50% of PBT 2| 2] 2 e 9 o 2
od Pofit After Tax (PAT) R I
Proposed Dividend AR A 2| 7| 200[235
Al Balance o/f __ 7 760 N ¢ 2 2| 2] =2
' Note : Base Year = Year ended on 31% March, 2(%% '
QQ}"’
2 . *\y«.?“' N
Asha Ltd., furnishes you followingvﬁhancial statements for the year ended 15
31*March2016. - RS
Balance SBeet as at 31 March, 2016
Equity and Liabilitiex)] = Assets ¥
v . 2guity Share Capital ( 10 each) | 20,00,000 | Fixed Assets(at Cost) 50,00,000
2 i2% Preference Share Ca%g%ﬁl 10,00,000 | Less:Depreciation Provision (6.00,000)
) Reserve and Surplus -, | 2,00,000 | Net Block 44,00,000
g *rofit and Loss ACC@SETC 3,00,000 | Long Term Investments 5,50,000
:2% Long Term Lo#ns 12,00,000 | A/csReceivable (PY ¥ 6,00,000§ 8,00,000
3% Public Depgsits - - 6,00,000 | Inventories(PY  9,00,000) | 12,00,000
*. s Payable(®X Rs. 9,00,000) 8,00,000 | Cash and Bank Balance 2,00,000
Dutstanding Expenses 1,00,000 | Expenses paid in Advance| = 50,000
3znk Overdraft 7,00,000 | Advance Income Tax 2,50,000
-ovisipn for Income Tax - | 3,00,000 Preliminary Expenses 50,000
“opdsed Dividend 3,00,000
7 Total = [75,00,000 Total 2[75,00,000
[ TURN OVER
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- ; 6 QP Code : 73946
' . ; d o
Profit and Lioss Account for the year ended 3 1sMarch, 2016. o E
[ Particulars T Particulars z  ~
- o oust of Goods Sold 63.00,000 |By Sales: Cash 0000 | oom
To Gross Profit c/d 27,00,000 By Qales: Credit ' 60,00;330 . —"‘le!
Total 90,00,000 | Total 90,900,000 : “""f—--
To Administrative Expenses 9.00,000 |By Gross Profit %‘5}{)0,000 "-”-"f-!
To Selling and Distribution 7,00,000 ;5;‘ . =
Expenses Qﬁ% . 'L"uu
To Interest . 2,22,000 § ) "-ulr
To Provision for Income Tax 3,00,000 Nl | Zom W
E . | To Net Profit c/d 578,000 ot e
Total 37,00,000 |Total & 27,00,000 | M-
To Transfer to Reserves 78,000 |By Balarivé b/f 1,00,000..
To Provision for Dividend 3,00,000 By b{[\ ot rofit 5,78,000 -l
To Balance ¢/f 3,00,000 &%}”
' - Total| 6,758,000 E\T — Total l 6,78,000 J |
K i %SI ¢
Trom the above information you arg;%qﬁuwed t0.calculate the following ratios
and offer your comments o1 Cx%t’?ént Ratio. ' |
(@  Current Ratio ?35}
- (fiy= Net Profit (NPAT) Batio
i) - Retumon Capi@?ﬁmployed
(v) ~ Debt ServicejRatio :
(). Stock Tm%o;':r Ratio
VD) CreditorgTornover Ratio
(viD) Debtats Turnover Ratio
Note:- Vertiéal\\a%étements not expected ) e
{g\‘”‘? : Ol [ TURN OVER
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3 ’ 7 QP Code : 73946 <§§3

\1, Following are the Balance Sheets of Silence Enterpnses Ltd., as at 31% March, 15 o
\z:’g, 2015 and 2016. | {gi\g}
Liabilities |31.03.2015 31.03.2016 ~ Assets  [31.03.2015 31.03.2016| .\
.®) ) ®) @ %
Equity Share Capital| 1,00,000 | 1,60,000 | Machinery 2,96,000 | 3,26,000"
General Reserve 90,000 | 95,000 | Investments | 1,12,000 | 85:000
Profit & Loss A/c 19,000 | Inventory 1,01,000 ﬁ@ 000
10% Pref Share Capital| 1,80,000 1,20.000 | Bills Receivables| 20,000 ’045 ,000
15% Debenture 1,20.000 1,50,000 | Trade Receivables| 49.00& D 1,39,000
Trade Payables 1,02,000 1,16,000 [ Cash and Bank 38,&@3 49,000
Bank Overdraft- 20,000 | 24,000 | Adv.IncomeTax | 20,000 | 20,000
Provision for tax 18,000 | 14,000 |ProfitandLossAlc| 14,000 |
Proposed Dividend | 20,000 32,000 ol
Total 6,50,000 7,30,000 Togﬁp“’ 6,50,000 | 7,30,000
Additional Information: T r@‘@ '
(1) © 10% Preference Shares were cq%‘verted into Equity Shares on
31.03.2016. ' Q‘
(2)  Additional 15% Debenturés%yei'e issued on 01:04.2015.
(3)  Preference Dividend and Dgbénture interest are paid on 31.03.2016.
{4)  Last Year's Equity Dividznd is paid on 01.03.2016.
(5)  Machinery of which ‘%‘;&ten Down Value was Rs. 80,000 was sold
ser atRs.95000. -
(6)  Depreciation on }achinery provided during the year was Rs. 75,000
(7) Investments ‘é( 50,000 were sold for Rs. 25,000.
(8) Last year's Income Tax was settled at Rs. 22,000.
“ Prepar% @Esh Flow Statement by indirect Method as per AS-3.
(A) Explain the f,?nctwns of Management Accounting. 8
B) Discuss t‘!%e concept of working capital requirement. 7
OR .
Write shqg’gnotes on (any three):- 15

,@) Valuation of Fixed Assets
q/\cr(Z) Net Worth
QQ (3  Common size financial statements
w¥ @)  Owed funds
3 (5)  Sources of cash flow

OF-Con.4230-16.
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QP Code : 73966 A

) (2% Hours) [ Total Marks ;- 75 oy
N
N.B.: (1) Al guestions are compulsory. : : {"‘;\‘
’ .(2) Figures to the right indicate fiill marks allotted to the question. : i
(3) Worl_c;?g notes wherever necessary should form part of your A}Q‘;‘;‘O
answer. v
(4) Calculate figures up to two decimal points wherever required, , ¥
: rz;?
I (a) . Select the most appropriate option and rewrite the full 53nt82128§ 8
(any eight) ' &
1. Cost Accounting is directed towards the need of- *gg?:»"
-* Governument 3
- External users ‘gy
* Internal users ,ré;‘ '
* Shareholders ﬁh
2. Cost of Production is equal to — ' {l‘:—*' :

* Factory cost + Administrative overheads ¥
. * Factory cost + Prime cost ﬁf‘;
* Administrative overheads + Sellin pverheads
* Prime cost + Selling overheads- ™ ,
3. Variable cost increases in totaflﬂ\{@g;@e to

* Increase in sales i
. ‘Q;».I"
« Increase in profit e

* Increase in volume opfggodu.ction

sip All of the above 1

4. Tenders and Quotatiochs are usually based on

~ » Cost statemcnﬁﬁ&'qbne

« Profit alone
- Future estiviates )
. Previcg%is, %eﬂod’s cost adjusted for future forecasts.

5. LaboygTurnover is caused by—
» Digsatisfaction with job

- »Low wages
¢ Discharge ‘
\;‘" + All of the above

(I-'

ks
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© 3. Under a@%ﬁrpﬁon of overheads decreases pr

2 QP Code : 73966

-

6. Stores department issues material te the production. department
based on :
« Purchase order
« Goods received note
- Materiaéi_tramfer note
«» Material requisition note

7. Economic order quantity refers to—— : o
« Quantity to be used economically éﬁ:”
« The quantity of materials to be maintained %{”
« The quantity of materials to be recorded \S{‘)
« The quantity of materials to be ordered at a time g

8. - Time-booking means -
« Time spent by workers 10 record their entry into ?ggx% factory
. A techmique to analyse time spent by workers mé;; firm

« Time spent by workers on their jobs Q‘f
- All of the above .5
9. Appropriate basis of apportionment of regerial handing charges
is 3 ke
« Material consumed :1‘,_,{;.\“
. Material in opening stock C\:{’
« Material in WIP o ‘

. Material in closing stock {;\\‘3"
10. Warehouse &xXpenses is aﬂgﬁwamplc of
« Selling overhead Q;:*
_«__« Distribution overhe@?
P o %

« Production overg@;a

. None of the ahgve
,Stéte whether the following statements are True or False. (any seven)
1. Cost Accountiig is used only in manufacturing industry.

2. High Labq*;ﬁ?tmnover rate denotes good human relations.
4 ofit in costing books.

4. ConV@gion cost is equal to direct wages plus factory overheads.
5 Bi%ﬁa:d is same as Stores Ledger. y
6. g@%gcs are paid for idle time. '

Z;;ﬁ’tores Ledger is maintained by the stores department.

‘{;i{. Overheads are first charged to the department where they are incured.

g, Transfer to Gieneral Reserve is an item of cost accounts.

10. Power is a machine eXpense.

[ TURN OVER
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o 3 QP Code : 73966 o
52335 2. Caleulate the carnings of Rakesh and Ramesh from the following particulars 15 f@"w
N for the month of March 2016 and allocate the labour cost to each Job ; \:;?M
& No. 100 and Job No. 101. | | | o
B! *  Particularg Rakesh Ramesh N
o2 ‘Basic wages gy T 15,000 ¥ 18,000 rﬁ?
D.A. (On Basic) | 80% 80% <
Employees Contribution to P.F. (On Basic) 10% 10% g ?3
Employees Contribution to E.S.I. (On Basic) 3% 3% {gt?’
Overtime hours . 15 9
Expenditure on amenities {Per month) T 600 < 53:’?}6

The Normal working hours for the month are 235, Overtime ifé%ﬁid at
double the total of basic & D.A. Enployer’s contribution to Statg Iﬁsuran_ce

(E.S.I) and PF. are at equal rate with employees’ contribution® There were
two workers employed on Job No. 100 & Job No. 101 %ﬂ?%he following
Bos

proportion. o
Name of Worker Job No. 100 | Job Nev'101
Rakesh 40% Q&U% i
Ramesh 20% 12 80%
Overtime was done on Job No. 100. \;{:}\"
OR S

(a) A Machine costs Rs. 12.00,000 angﬁ'cx\deemed to have a scrap value 8
of 10% at the end of its eﬁec&:;%? life (12 years). Ordinarily the
machine is expected to run for 4.800 hours per year but it is estimated
that 200 hours of the tin;g;:;\fvill be lost for normal repairs and
gigintenance. Other detai_!ﬁh respect of machine shop are as under :

' _ Detailss : Amount (%)

Anmmal wages, bonus angs@t vident fiund contribution

of each of two operators”

(each operator is in@:giﬁa:ge of three machines) 1,50,000
Rent of shop per.vear 1,20,000
General Iightingi;_\if‘ the shop per month o 6,000
Insurance prﬁéﬁm for one machine per annum 28,000
Shop Supeé?isor’s monthly remuneration . 15,000
Cost o@iﬁépairs and mainterdance per machine per quarter 6,000

Omes\Fgctory overheads atfributable to the shop per annum 96,000
Po@%&&‘onsumption of machine per hour 15 units @ ¥ 6 per unit —
There are six identical machires in the shop. The supervisor is expected

{fa‘fo devote one-fifth of time for supervising the machins.

3
ey

Compute the machine hour rate from the above details.
[ TURN OVER
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(b) The following are the details as regards a worker who worked for Job 7
No. 444 and 555. '
Job No. Time allowed Time taken a5
444 26 hours 20 hours o
558 30 hours 20 hours ' @?
His normal basic rate of wages was T 80 per day of & hours and his ‘i\ﬁ
dearness allowance was T 240 per week of 48 hours. WY
Calculate the amount payable to him. 6’5’3
i) On Time basis : ‘ L
ii) On Halsey Plan basis (Bonus at 50% of Time saved) a.ggg{:'}
1ii) On Rowan Plan basis &
Following are the purchases and sales of materials in the mogf‘f{?i\ of March, 15
2016. _ ;{;3 "
Prepare Stores Ledger showing valuation of stock on th;r{;@;ﬁsis of FIFO and
Weighted Average Cost (Perpetual) Method @ .
Date (2016) | Purchases (Units) Rate (3) [ Sales (Units) |-
1st March 1,200 386" -
o a
6th March — O 300
7th March 600 - ~."4.00 —
{2th March e =§? — 1 200
20th March 400 X 420 —
25th March SE 1 — 400
29th March 800%‘53 440 | —
3LseMarch -_*F&@ — 300
Out of purchases on M Q{’*’:rf'%#ﬂ), 100 units were returned to the supplier on
March 9th. <+
’ § 'OR
KD
&
&
0 - @
8 - [ TURN OVER
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5 QP Code : 73966 ' -
8

2 | & '_I(a)' From the following infonnatigon, Calculate Economic Order Quantity 8 ,{f\‘v}
- & and Number of orders to be placed in the year according to Formula =~ ,\‘iaz
oo ‘ Method and Tabular Method. Ko
q\r\:"f % A Company manufactures a product from raw material which js %“‘ \'
oy purchased at & 80 per kg. The company incurs a cost of placing an m,\g;/m
‘_\?{},V order of ¥250 plus freight of ¥ 1,150 per order. The incremental gi‘
o carrying cost of inventory of raw material Is ¥ 2 per kg’ per annum. ¥
In addition, the cost of workin capital finance on investment ;vgs?
inventory of raw material is ¥ 5 per kg per annum. The !{5‘1
production of product is 50,000 units and 5 units are obtaing\%f?;ﬁ‘bm
one kg. of raw material. @%
(®) KVD Ltd. has five departments; P, Q, R and S are production 7
- departments and S-1 is a service department. The actua%ﬁ‘oé.ts are as
follows: _ : g«;ﬁ}
o =
Supervision ' -S34,00,000
Insuraz_:ce on stock {\?’;‘3 1,60,000
Lighting AP 130,000
- Employer’s liability of employees™ insgfghce . 60,000
Repairs - Q“ 3,50,000
Rent NG 2,50,000
Depreciation ﬁ 4,20,000
The following informationf.gs;kalso available in respect of the five
departments : ey
Partie®lars [ ﬁ-f(}\“ Production Depattments fSenrice De;.ﬂ
S P[] [ 5| wi
Area (8q. ft.) © 1400 | 1200 | 1100 900 | 400]
No. of workers x|  -250 300 | 100 100 50|
Total Wages - = | 1,00,000 80,000 | 50,000 | 50,000 20,000
Value of plant*” = | 2,00,000 [1,80,000 | 160,000 |1.00.000 60,000
No. of light-pbints 50 40 35 30| 25
Value ofsfock = | 1,50,000 |1,00,000 50,000 | 20,000 |  —|
5 ,Bf;;%are a Statement showing Primary Distribution of Overheads.
N
o [ TURN OVER
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- Q}E’ Code : 73966
4. Bharat Electronics Ltd. produces a standare product and provxdee you the 15
following, mfoma‘uon for the year ending 31st March 2016. ,
Particulars . % "
Raw Materials: o
Opening stock 1,00,000 {;ﬁ‘f}y
Purchases 8,45,000 o
Closing stock 40,000 |-
Custom duty 5.0 OO‘%{;}V
Direct wages 2,00,0 %\
Chargeable expenses < 1,08800
Haulage charges 70,000
Loose tools written off - «320,000
Works Manager’s salary = ?‘1,65,000
Cost of rectification ) ;v 5.000
Office overheads 10% of works overheads N@r}'
Selling expenses ¥ 4 per unit sold o
Finished Goods : ,-&3\
Opening stock 1,000 Unitﬁ{% 1,59,920) 4
Produced during the year 10,000 Un:i‘tsf
Closing stock Z,OOD@H ]
Profit desired on cost 25% {?iff;"-’
Prepare Cost Sheet showing the v"a;g}aﬁs clements of cost both in total and
per unit and also find out total R'Ziﬁt and per unit profit.
' R
4. Followmg is the summans%@?rout & Loss Account of Govind Industnes 15
Ltd. for the year ended '%“L. 2016
Profit & L.oss Aécount for the year ended 31-3-201 6.
Particulars »g}?‘ 4 z | Particulars B =]
To Direct matcn%‘ 20,000 | By Sales (6,000 units) 48,000
To Wages ‘;‘;‘k : 7,540 | By Closing Stock
To Factory e&fé}heads 5,460 | (Finished Goods 1,500 units) 6,600
To Ofﬁce@v;ﬂrhcads 5,250 | By Interest on Investments 17,700
To Selg@“& & Distribution By Profit on sale of furniture 12,000
ovarhqaﬁs 9,600
"i_ca\w riterest on loan 1,400
| g& Income tax. 750
~4¥To Net profit 34,300
o 84.300 84,300
.~ [ TURN OVER
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5 _
. The Cost accounting records for the above period showed the following. ,.g_‘g“'t
15- 5 1) Direct material @ ¥ 3 per unit produced, k¥
%\ 2) Direct wages @ T 6 per unit produced. __ .,ji}‘
LN - Factory overheads were absorbed @ 25% of combined cost of o B
‘E"*\ T Direct material & Direct wages. {f’}"%f’
e , 4)  Administfative overheads were absorbed @ ¥ 2.5 per unit produced. <
N 3) Selling & Distribution overheads vere absorbed @ ¥ 3.5 per unit. ¥
: ity
) sold. F. 07
You are required to prepare the detailed Cost Sheet for the vear %rdfé“d
31-3-2016 2nd a Statement of Reconciliation. BC;
i -m:it
. R
5. (8) Explain the importance of Cost Accounting. -
(b) Explain ABC Classification system of Inventory Contro%:? 8
B OR S 7
5. Write short notes on (any three) - o
a) Labour Tumover o 15
b) Purchase Order ~ o
¢) Material Turnover Ratio ,::"z(,;}
d) Limitations of Financial Accounting {«;}
. & Causes of Over and Under Absoxpti\én‘of Overheads
‘ 0 '
el
?E»;
5 &
L3
oy
i
_ R g'gj}
1= ‘é?;\}
‘g:.:
o
S
@3"" [ TURN OVER
o -
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NOTE:

e

AU . (A)Match the Columns: (Any 8)

Duration : 2% hours

All Questions are compulsory. -

Figures to the right indicate full marks .

g Notes should form part-of your answers,
Use of sirople calculator i allowed.

Workin

QP Code : 73984

Maximum mérlcs: 75

! 0

B

1 AmalgamaﬁonAcﬁustmentAccount

Short Term Provision,

DuringAmalgama.ﬁon, Dissolution
2 IExpcnsas bome by Vendor company is

Personal InvastmE:ntAccounﬁng

LN

L Assets is

bﬁng Internal Reconstruction,
Appreciation in the value of Fixed

Debited to Realisation Account

Statutory Reserve

5 [Disclosure of Land & Building

| 4 |Discosure of Franchises

Credited to Capital Reduction Account

6 [Disclosure of Interest Accrued & due

8 Increase in the value of Creditors is

on Debenturesg Desbited to Capital Reduction A ccount
7 [Net Asset Method Intangible Fixed Assets
During Internal Reconstruction, '
Tangible F ixed Assets

9 Cwn—ln’tcrest and Ex-Interest Price

Short Term Loans & Advances

10| Disclosure of Provision for Taxation

Purchase Consideration

Credited to Realisation Account

Other Current Liabilitieg
1 .

2I. B. ' State Whether the following statements are True or False.
Rewrite the statement. (Any 7

Amalgamation of Companies is governed by AS 14.

Sale Proceeds on sale of Right entitlement
Unclaimed Dividend is shown under the h
Balance Sheet of a Limited Company.

[y
.

ol 2

}-Con. 4683-16.

is Credited to Profit & Loss Account,
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2 QP Code : 73984

4. Contingent Liability is shown as a foot notein the Balance sheef of a Limited
Company. . - :

5. InPersonal Investment Accounting, dividend received on Investments in shares for
bost acquisition period is credited to profit and loss Account. '

6. InPersonal Investment Accounting, Long Term Investments, at the end of the yearare
valued at cost. :

7. ‘Computer Software’ is shown under the head ‘Intangible Fixed Assets’ in the
Balance Sheet of a Limited Company. _

8. Internal Reconstruction Expenses are debited to Capital Reduction account.

9. During Internal Reconstruction there is no liquidation of Company.
10. “Pooling of Interest’ is a method of caleulating Interest on, Debentures. b
Q2. Tollowing is the Summearised Balance Sheet of Mahesh Itd 2s on 3 1/03/2016. - 15
Liabilities Rs. | Assets Rs.
20,000 8% Cumnulative 20,00,000 | Goodwill. .- - = 4 - 5.00,000
Preference shares of .
Rs. 100 each fully paid :
Land & Building 24,00,000
4,00,000 Equity Shares of 40,00,000 -
Rs. 10 each filly paid -| Plant & Machinery 22.,00,000
8% Debentures of Rs.100 20,00,000
each (secured against Land Investments 2,40,000
& Building) Current Assets 34,40,000
Debenture interest due 80,000 | Profitand Loss Accounts | 17,00,000
Loan from Directors 4.00,000 ’
Current I iabilities 20,00,000
7 -
(104,80,000 (104,80,000
s 1x
Note: (a) Claims for damages againstthe company pending in court of law !
. amounted fo Rs.2,00,000. i —
(b)  Arrears of Preference dividend Rs.1,40,000. p Losmsiatl
Following Scheme of Reconstruction was approved &Implemsnted:- %
) Preference Shares were reduced to eqqal number of fully paid 8% Preference ;w"
Shares of Rs.80 each. . _ i
(i) . Equity Shares were reduced to equal number of fully paid Equity Shares of P
. Rs.2.50 each. ' ’ ) T,
(iii)  Preference Shareholders waived half of the arrears of dividend and 28,000
equity shares of Rs.2..50 each fully paid were issued to them in lieu of the
balance. '
. (iv) 8% Debenture holders took over part of the Land & Building having book
value 0fRs.7,20,000 at Rs.10,00,000 in part satisfaction of their debts and .
2,40,000 Equity Shares of Rs.2.50 each fully paid were issued to them for the
balance amount .

OF-‘;[D“._ 4683"1 6: . i . i m
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2173984 .- . C B

" (v).  Debenture holders wajved their interest due on Debentures. -
(vi) +  Theclaims for damages pending in the court of law were settled by issue
' 0f24,000 Equity Shares 0fRs.2.50 each fully paid. -

(vii) - Directors converted their loan into equity shares ofRs. 2.50 each fully paid

(viii) Profit & Loss debit balance and intangible assets wers Written off.
. (®)}  The assets were revalued as under:-
o ' Plant and Machinery Rs. 1 4,00,000,
' Investments Rs. 2,00,000.

You are required to'pass necessary Journal Entries in the books of Mahesh Itd,

OR 15
Q2. Mz Ashok entered into following transactions of Bquity Shares of Rs. 10/- each
of Anmol Ltd.
15 :
Date No. of shareg Details ]
01/04/2015 1500 Rs. 34,500 Cost ( opening)
15/05/2015 1000 Purchase @ Rs, 79/ per share
15/07/2015 2300 . . | Bonus shares received
15/12/2015 1500 Sale @ Rs. 22/- per share
01/03/2016 1000 Sale @ Rs.24/- per share
Additional Information -
1) On Ist September 2015, dividend @ Rs. 3/- per shate was received for the
year ended 31/3/2015.
2) On 10th November 2015, the company made 2 right issue of equity shares in
the ratio of one share for every five shares held on payment of Rs. 20/- per
share.
Mr. Ashok subscribed for 50% of the shares and sold remaining of his rights @
Rs. 3/- per share.

You are required to prepare Investment in Equity Shares A/c in the books of
Mr. Ashok for the year ended 3 1/03/2016. (Round off figures to the nearest Rupee.)

. 15
Q3. The Stfmarised Balance Sheets of A’ L1d and ‘B’ Ltd as on 31/3/2016 were as

follows:-
Liabilities ALtd. [BLtd | Assets ALtd. | BLid.
L | ®Rs.) Rs.)y Rs.) Rs.)
ESulty sharo Capial Land & Building 6,00,000] 4,80,000
s \ Shates of Rs. 10 each) 8,00,000( 6,00,000 Plant & Machinery | 1,20,000] 80,000
o Esseives & Surplus 5,80,000] 1,00,000 Motor Vehicle 60,000 40,000
Creditors 4,20,000] 2,60,000 Debtors - | 4,00,000{ 1,60,000
€'5 Debentures — - 2,40,000 Inventories 460,000 3,60,000
F5.100/- each) Cash & Bank Balanc¢ 1,60,000] 80,000
rs
4 Z (‘-/ /
18,00,000 §12,00,000 18,00,000}12,00,000

RL

TURN OVER
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Additional Information :-
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Coda 2 73984

Altd & B Ltd amalgamate their business. They form *AB’ Itd. to takeover Assets
and Liabilities of both the Companies on the following basis :-
Assets and Liabilities are taken over at Book value, with the following

exceptions :

a) Goodwill of’ A’ Ltd and ‘B’ Ltd. to be valued at Rs. 2,80,000 and Rs. 80,000

respectively. %

b) Plantand Machinery of ‘A’ Ltd. to be valued at Rs. 2,00,000.
¢) Debentures of’ B’Ltd are to be discharged ata premium of 5% by issue of 6%

Debentures of Rs.100/- each of ‘AB’Lid. at par.

d) Entire Purchase Consideration is discharged by issuing Equity

of Rs. 10 each at par.

You are required to:
a) Calculate Purchase Consideration.
b) Pass Journal entries in the books of ‘AB’Ltd.

¢) Show notes to Accounts of ‘Share Capital’ and ‘Long Term

part of Balance Sheet of ‘AR’ Ltd. after Amalgamation.
OR

Q3  (A)Showthe presentation of the following items under appropriate .
aotes to accounts forming part of the Balance Sheet of Mehul Ltd as o0 31/03/2016.

shares of ‘AB> Ltd

Borrowings’ forming

07

a) Geperal Reserve (opening Balance) . Rs.50,00,000

b) Debenture Redemption Reserve (opening B alance) Rs.10,00,000

¢) Profit & Loss Account (opening Balance) Rs.30,00,000

d) Net profit for the vear (before Transfers & Appropriations) Rs.40,00,000

e) Transfer to General Reserve Rs.10,00,000

f) Transferto Debenture Redemption Reserve Rs.5,00,000

g Proposed Equity Dividend Rs. 4,00,000

h) I5%fm Dividend paid Rs. 1,00,000

Q3. (B) Following is the extract of e Trial Balance of Satya Ltd. as on 31/03/2016. o
Particulars Debit Credit ]
(Rs.) (Rs.)

Profit & Loss Account (opening) 25,00,000

Advance Income Tax (2014-15) 1,20,000 |

provision for Income Tax (2014-15) ~1,70,000

| Advance Income Tax (2015-16) 1,30,000

OF-Con. 4683-16.
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73984 S
' Additional Information :- : < PRy
1) Net Profit before Tax for the year ended 3 1/3/2016 is Rs. 6,00,000.
2) Income Tax Provision to be made for the year 2015-16 ig Rs. 1,40,000. .
: 3) No effect is given to Income Tax Assessement which is completed for
- - - 2014-15, resulting in a Gross Demand of Rs, 1,50,000. :
You are required to show, how the relevant ftems will appear in the Statement
- of Profit & Loss of Satya Itd. for the year ended 31/3/2016 and also in the
Balance Sheet as on 31/3/2016.
Q4. Following is the Tria] Balance of Bharat 1td. as on 31/03/2016 15
L _ PARTICULARS DEBIT CREDIT
* 14d _ Rs. Rs.
4,00,000 Equity Shares of Rs, 10/- each - 40,00,000
12% Dehentures 30,00,000
Profit and Loss Account (Balance as on 01/04/2015) . 2,62,500°
Bills Payable L B o B 3,70,000
Creditors 4,00,000
odey Sales 41.50,000
General Reserve 2.50,000
Provision for Doubifi] Debts - 35,000
= & *|Premises 30,72,000
o7 Plant and Machinery 33,00,000
2 Opening stock of finished goods : 7,50,000
Debtors _ 8,70,000
Goodwili 2,50,000
Cash & Bank Balance 4,81,500
Interim Dividend 3,92,500
Purchases of finished goods 18,50,000
Share Issue Expenses . 50,000
Salaridge 9,79,800
General Expenses 68,350
Advertisement Expenses 2,02,250
Bad debts 21,100 |
08 Interest on Debentures i 2 ~1,80,000 |
| /12,467,500 | 112,467,500
Additional information :

1)  Authorised Capital of the Company is 5,00,000 equity shares of Rs. 10/- each,

2) Write off 10% of Share Issue Expenses. S

3) Stock of finished goods on 3 1/03/2016 is Rs. 9,50,000/-

4)  Create Provision for Doubitfil debts @ 5% on Debtors.

5) ProvideRs. 1,80,000/~ for Income Tax. _

6) Depreciate Plant & Machinery @ 15% p.a. .
From the above information prepare statement of Profit & Loss for the year ended
31/03/2016 & Balance sheet as on that date of BHARAT LTD. :

OR

: TURN OVER
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Q5.

Q5.

OF-Con. 4683-16- | B}

Following Transactions app

gar in ﬁne hooks of Mr. Joshi for 12% Government Bonds of 15

Code : 73984

Rs. 100/~ gach.

[utetest is payable on 30th June and 31st December every yeat. ~Tyansactions during the *

year ended 21/03/2016 are as follows: -

Date No. of Bonds Details ' ,

_ 01_304&&015 _ 2400 Opening Balanceat 2 cost ofRs. 2,28,000/

01/06/2015 500 Sold @ Rs. 105 each cum Interest
01 109/2015 ... 2100 Purchased @ Rs. 08 each Bx- Interest

01/12/2015 " 1200 Purchased @Rs. 108 each Cum-Interest
01/02/2016 2700 Sold @ Rs. 97 each Ex-Interest 1

© (B)Distinguishb

Prepare 12% Government Bond Account in the books of Mr. Joshi for the year
ended 31/03/2016. Market value of the above investment on 3 1/03/2016 was

Rs. 2,03,456/- _
(Figures to be Rounded off to the nearest rupee)
. ; : 07

(A) Bxplain Pre-acquisition and Post-acquisition Dividend in Personal Investment

Accounting.

. 08
etween Amalgamation v/a Absorption v/s External Reconstruction

of Comapines.
' OR

15

Write short notes on Any 3 of the following:
g) Challenges in Convergence with IFRS

b) Disclosures of Reserves & Surplus inthe
¢) Methods of calculating Purchase Consideration.
d) Consolidation & Syubdivision of Shares.
e) Sale of Right entitlement & Purchase of Right Shares.

Balance Sheet of 2 Limited Companies.

i
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